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e - |t UgH I TA Hitq |
Note : Attempt all questions.

¥ ShHTh 1 TS T B 1 3HE @Ue (27), WUe () Td WS ()
g1 Y% WU § Uid TR § U1 X Y W 1-1 37k eTefed T
Question No. 1 is objective type question. It has Part (A),
Part (B) and Part (C). There are five questions in each Part and 1 mark
1s allotted for each question.

T ShHIh 2 W 6 Th ATTTZANT T € | Tk I W 2 37k rsifed T |
(SR T Aty Tes-FHT 30 5 ©)

Question Nos. 2 to 6 are very short answer type questions. Each
question carries 2 marks. (Maximum word limit of answer is
30 words)

T % 7 ¥ 12 T TSI T T | T® T W 3 3k reifed € |
(SR T Aty Teg-FHT 50 15 ©)

Question Nos. 7 to 12 are short answer type questions. Each question
carries 3 marks. (Maximum word limit of answer is 50 words)

T ShHTH 13 ¥ 17 T TS0 T € | T 99 B 31iaies foehed ¥
T U W 4 3k Aifed ¥ | (ST At Al Tsg-HTT 75 92 ¥ )
Question Nos. 13 to 17 are short answer type questions. Each question
has an internal choice. Each question carries 4 marks. (Maximum
word limit of answer is 75 words)
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(v) TS AR 18 ¥ 22 T SrEStIg U9 § | Tieh U9 H 27 fashed § |
Teleh Y9 W 5 ek 3fifed § | (ST ! Afushad wse-Ei 750 8 §)

Question Nos. 18 to 22 are long answer type questions. Each question

has an internal choice. Each question carries 5 marks. (Maximum

word limit of answer is /50 words)

(vi) W9 I 23 Td 24 ETT T | IS U B ofafen faswen ¥
YOF T T 6 3ok TEfed &1 (ST HI SThad Tea-HH1 250 T8 ¥)

Question Nos. 23 and 24 are long answer type questions. Each question

has an internal choice. Each question carries 6 marks. (Maximum

word limit of answer is 250 words)

U1

(@uE-31) el famey ga fafa :

(Part-A) Choose and write the correct option :

(@)

(i)

(iii)

-7 TTT FLAT © ¢

(37) fafire waf &1 () TS A &
(F) TSR WA (%) 3T 9 I8 &l
Micro-economics studies :

(a) specific firms (b) national income
(c¢) level of employment (d) None of these
ey o] fFE TR % SR i o € 2

(37) WehTTeshd i (7)o gfEfm
(F) 190l gfaaifian (3) TR

How are analogous things the characteristics of market?
(a) Monopolistic competition (b) Perfect competition

(¢) Imperfect competition (d) Oligopoly

ST 1 WATHE w1 T
(87) HEl YA A1 STTER () HF G
(9) e H1 = (%) T 9 I &l

The primary work of money is :
(a) Dbase of future payment  (b) store of value

(c) measurement of value (d) None of these

[1x5=5]
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(v) ‘FEa ALIRET Sk sfuear’ st 9§

(37) 1924 (a) 1973
(/) 1972 (%) 1974
‘Steel Authority of India’ was set up in :

(@) 1924 (b) 1973
() 1972 (d) 1974

(v) oiforrg & s F AT :

2 pd 2P
P, =="10x100 P, =="11x100
(37 Lo Zpo% (o) Ly Zpo%
(8) () wd (7) A (3) =98 9 & TN
The formula of Laspeyres index number is :
2 g 2pg
P, =="2x100 P, ==""1x100
(a) for S Pde (b) Lo S b
(¢) Dboth (a) and (b) (d) None of these
T9a-1  (@ue-a) foa wEl &t gfd St : [1x5=5]
(Part-B) Fill in the blanks :
() TEfe-redvme § THIZAT T 31T Tohan ST # |
units are studied in Macro-economics.
(i) ShIHd SRfeeh shiHd Bl © |
_value is real value.
(iii) o T 9 B qRT 2 |
Paper currency is the  currency of country.
(i) T YR HT AT HET ST ¢ |
___is called the Manchester of India.
(v) IS SIS &3 o T STt T |
Invisible unemployment is found in _ regions.
M-39A P.T.O.
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yoa-1  (TEUS-H) e SISl 9AR ¢ [1x5=5]

(31) (=)
() HHe 3T (37) Yerehish
(if) RIS () FRI-TRET
(iii) TSR & fagr (%) T
(iv) IR T Yahich () Halha | Icq= SIS
(v) SiteM &R skl H/Y (3) wmfte-sreeme
(Part-C) Match the correct pair :

(A) (B)

(i) Cement industry (a) Index number
(if) Circular unemployment (b) Nifty-fifty
(iii) Theory of employment (c) ACC
(iv) Share price index number (d) Unemployment created in deflation

(v) Measurement of life standard (e) Macro-economics

U-2 ISR oI 9 1 3INA | ? [2]
What is meant by market price?

gya-3  forawor st it fafew | 2]
Write the definition of distribution.

U-4 & o o7 fafem 2]
Write the meaning of tax.

Y9A-5  Gohol el SIS fhd Fed € ? [2]
Which are called Gross Domestic Product?

UgI-6 & STde ot o 31 § 2 [2]
What is the meaning of Regional Imbalance?

UoT-7 IR i <A foivand fafay | [1+1+1=3]
Write three characteristics of oligopoly.

YYA-8 IS K o A9 < fafEw | [1+1+1=3]
Write three demerits of paper currency.

ygT-9  faawor st i gued gam | fafam) [1+1+1=3]

Write in brief the three problems of distribution.
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Y9A-10 WU H&T el Hichfdeh Hx1 H o R fafaa | [1+1+1=3]
Write three differences between Standard Money and Token Money.

U9A-11 T 319 Td U Yot § i 3R fafam | [1+1+1=3]
Write three differences between National Income and National Capital.
W9A-12 YR H feHar & @ SR fafen | [1+1+1=3]

Write three causes of poverty in India.

Y9a-13 & &l X H f9=1a1 & 9R RO faran | [1+1+1+1=4]

Write four causes of difference in rate of interest.

34T/ OR

HIATTHR HSI Tl FHATTER ASigy H =R & fafEn |

Write four differences between work based wage and time based wage.

U9T-14 oY SEI & 91 g9 fafay | [1+1+1+1=4]
Write four problems of small-scale industries.
37941/ OR
Id 3TN ok IR a1 fafaw |
Write four profits of large-scale industries.
Yga-15  oAfte-2refeme &6t 9R S fafen [1+1+1+1=4]

Write four limitations of Micro-economics.
37947/ OR
HHY-31e9res %1 =R fasivan fafaw |

Write four characteristics of Macro-economics.

uv-16  TeH fHY & g & fagia fafEu) [1+1+1+1=4]
Write the canons of taxation by Adam Smith.

37I4qr/OR
eTfaeitel ST okl =R il fafee |

Write four demerits of progressive tax.
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T ofes gai-uerd & =R o fafew |

Write four merits of a good money material.

<t Sfent o =R S fafe |

Write four demerits of Indigenous Banks.

IRA § T T &1 TOAT § AW aIell TIE HiSAEAl hiH-HiA Gt

g2

37T/ OR

[1+1+1+1=4]

[1+1+1+1+1=5]

What are the main difficulties which come in calculation of National

Income in India?

37941/ OR
IR T T T ! &t 1fa A gfg & F1 FRo E 2

What are the reasons for slow growth of National Income in India?

Teargard Hrea Afd gR1 faetien st 701 i

[1+1+1+1+1=5]

T A B C D E

e 1988 12 | 25 10 5 6

HT 1989 15 20 12 10 25
Calculate the index number by mean method of price ratio :
Goods A B C D E

Price 1988 12 25 10 5 6

Price 1989 15 20 12 10 25

37941/ OR

frfafaa ewel st Te@a ¥ 1989 1 STER a8 THFR 1990 & fag
Gis! A | B C D E

1989 H gea (%) | 50 40 80 110 20

1990 H e (%.) | 70 60 90 120 20

Find out the price index number for 1990 taking 1989 as a base year

with the help of following data :

Goods A B C D E
Price (Rs.) in 1989 50 40 &0 110 20
Price (Rs.) in 1990 70 60 90 120 20

M-39A
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Y9-20 0 sl & STUR W ¥ohd UL 39K a1 IS TP IR A

IS [2V44+2Y5=5]
e I (6. HASH)

() U FEgeil ofR Jamel &1 Iae - 9,300

(i) YSiTd SEge Td Jensl 1 SedreH - 6,100

(iii) Torgmae == - 900

(iv) 3T - 1,800

(v) frafa - 2,000

Find out the Gross National Product and Net National Product on the
basis of the following informations :

Items Expenditure (Rs. in Crore)

(i) The production of consumer goods
and services - 9,300

(if) The production of capital goods

and services - 6,100
(iii) Depreciation - 900
(iv) Import - 1,800
(v) Export - 2,000
37Y4ar/OR
o etferel & SMuR W =5 oM fafy gry Tt o1 &t 0T i
e (F.HITH)
() wod - 40,000
(if) - 7,000
(iif) =S - 13,000
(iv) H - 5,000
(v) SUHT = - 40,000
(vi) s = fafw=m - 15,000
(vii) g Taceh fafram - 10,000

M-39A P.T.O.



YIT-21

YI-22

YI1-23

U91-24

[8]

Find out the National Income by expenditure computation method
on the basis of the following data :

Items (Rs. in Crore)
(i) Wages - 40,000
(ii) Rent - 7,000
(iii) Interest - 13,000
(iv) Dividend - 5,000
(v) Consumption expenditure - 40,000
(vi) Net domestic investment - 15,000
(vii) Net foreign investment - 10,000
T & fafy= &1 a1 YRl @l 99eEy | [1+1+1+1+1=5]
Explain the different forms and types of rent.

37I4aT/OR

Y o e fag 1 auiF hifau |
Describe the modern theory of profit.
St o 9T AE fafam) [1+1+1+1+1=5]

Write five importances of Banks.
37U4q1/OR

“ereRifa e § 1" Ofe fagati & wemEw )

“Inflation is unjust.” Explain in five points.

TSI o Yk fagid ot dfes =amen wifsu [6]

Explain the modern theory of wage with diagram.

34T/ OR

forawor & HiHid Scaeehar fagid o1 ©: Ter=A fafgn | [1+1+1+1+1+1=6]
Criticise the marginal productivity theory of distribution in six points.

T Y TH 37T H H S: 3 fafan | [1+1+1+1+1+1=6]
Write six differences between Direct Tax and Indirect Tax.

34T/ OR

frstt fora wa wrasifes fog o ©: i fafau )
Write six differences between Private Finance and Public Finance.

oooooooooo
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